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Cmopers caxmamero ors 1315 rox Bp Beremkara Kasa mua
118076 wyxamegamm (Typmu, Toplemm, apRayTd m muraEm) m 31328
rHeMyXaMejaHu (Obarapd, Biach ® uacrs muramu). Cmopers Hamara
CCTaTHCTHEA MyXaMefaHuTE cx oxoxo 18600, a xpuermaEmTb O0KO0IO

£36400. BeproBmyb 1aBa 3a Myxamegammrh umeroro 19500, ®oero e
,( 0am3k0 10 ropHETH umena, Ho 8a GBarapurh TOH 1aBA MHOTO IO-BHCOKO
yqueao — 42095 pymm. HpLyBumquHelo U3IH33 O1h TOBA, Y€ BH
eHero Oparapcrurh cera cx upbicrasemm Mmoro roxbwm A nEEB BB
ITlrotmBerata cratmermea wnelata cx Mmoro Maikn Crmopeis mes
M MyXaMelaHH Bh Kasarta uMa 4636 jaymm, a Onarapm 19734. Ymcroro
FHA HACEIGHUETO, KAKTO BB IPaja Taka W BH CEJIATA CR MHOTO yMAJEHIH.
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